3 (Sem—6) GGY

2016

GEOGRAPHY

( General )

( Economic, Political and Environmental
Geography )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Select the correct answer of the following
questions : 1x10=10

o PP 0% TeIC! AR Tfeed

(a) In which of the following occupations
the rickshaw pullers are included?

o (T IS R veTees 91 = 2
(i Primary occupation
enafie 3fs
(i) Secondary occupation

e 3fe
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(b)

(2)

(it} Tertiary occupation

oS 3R

fiv) Quaternary occupation

vpde 1

Which of the following is not an example
of non-renewable resource?

TS BIEY T RERY SHAFITAS ST
BT =9 2

(i) Coal /%=

() Iron ore/ER HRI

(i) Running water /2% I
(iv) lgneous rock /e et

R T T g

(d)

(e

(3)

Which one of the following countries
ranks first in the production of long’

fibre cotton?
o (FEA O TN S $I1% TS 29
TS SRR ?

() Egypt/%"g

(ii) Bolivia/3fAfe

(iii) Brazil /31

(iv) China/SFTe1

In which continents the Great Lakes
Region is located?

TR P TIPS CIB G e SRfFS 2
(i) Asia/afR

() Europe /28
(iii) South America/‘iﬁﬁ‘t RS

(c) Which one of the following States of . )
India ranks first in sugarcane (iv) North America/%& IR
production? () In whi .
ch of the following types of
TS %Tfﬁ I SREI(T IEHIIN TS industries, the cottage industry is
P $RAR Beoimers g THS SR ? included?
() Assam/p R (FHRY TS FoI PIHT SBEE TR ?
(i) Bihar/Rzx (i) Large industry
& Tomal
(&) Odisha /eRay
. (i) Small industry
() Uttar Pradesh /Segatm™ o Somst
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(4)

(g) Landslides is mainly caused due to
IR R T PR R
(i human activities
TR S
fii) natural processes
ARFRST IR
fh) The main cause of loss of biodiversity is
&tafoa APt (RR T IR 0=
(i) deforestation

T g
fii) greenhouse effect

Ciem-92 afeferm
(i) flood
qiN
(iv} soil erosion
ik
{) International boundary means
SBREBH M = 2
() boundary between two countries
TR ORI S
x (i) boundary between two continents
Y39 TOPR &R I
(iii) boundary between two oceans
T TP Ao eI
(iv) boundary between two States
T3 IR W SR
Al6/417
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2. Answer the following questions in brief :

(@)

(5)

Which of the following countries is
located in the buffer zone?

TR (IR 71 IR T oo 3

(i) India
Sy

(i) China
ooy

(i) Bhutan
TOM

(iv) Pakistan
Rz

2x5=10

Name two atomic power centres of India.

SRS o1 ~rwiefd e T fora

(b) Mention two principal characteristics of
Indian agriculture.
SRR $RY o1 ey LA TeEd T
() What do you mean by intensive
agriculture?
Tz A e & @2
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(6)
(d) What is meant by geographical
environment? ’
cSiesnfer +ife e 6 qom 2

e/} Why does the Mausinram-Cherrapunji
region receive the highest rainfall in the
world?

TpTE-cR18 wwere 4R R /it
R IR = R 0

3. Answer any four of the following questions :

S5x4=20

wo1S frn 2R R e iR Tl o

(@) What is meant by conservation of
resources?

o I e 1 @

(b) Discuss the factors of localization of
industries.

resmme g IR ST 9

(c) Discuss the boundary problems of the
States of North-East India.
Y- SRy JEPHR A IR R
ST 337 |

{d) What are the economic activities of
Inhabitants of hilly region?

™I wwRr R
ferarFaToiaR 3 R 2

Heftafess

Al6/417
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(e)

Answer
following :

©o7s il PR R e vifReR Tew forn -

(@

(b)

(c)

(7)

Give an account on geographical
conditions necessary for tea cultivation.

1% (4] R 2= cSaNfers SRErTR |fb
g fawm

What is meant by ‘climate change’™?
‘s R s & @ 2

any four questions from the
10x4=40

Economic geography is a dynamic
science. Explain. 10

ST graner b1 M Reem 1 amm 41

What is meant by resource? Classify
resource on various bases. 3+7=10

om Jfercer ¥ o 2 RIS e 7o s
|

State the geographical conditions
necessary for cultivation of cotton.
Discuss with a diagram the distribution
of cotton cultivation in the world.

4+6=10

PR (AT AT AT CIRATE FPTR
TE I e Iz (W Reer Reen

foepz =tICETe 341 |
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(8)

(d) Define Political Geography. Discuss its
importance as a branch of Human
Geography. 4+6=10
TRHARST Geaer e B | TR eI b
31 2o TR @y e T4 |

(e) What do you mean by frontier’? Discuss

how it differs from ‘boundary’. 3+7=10
e’ e B g7 Ny w9© WR AL
%, seemsa <41 1

* k& Kk
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